



A NOVEL ANALYSIS OF INTEGRAL INEQUALITIES IN THE FRAME OF FRACTIONAL CALCULUS

Bibhakar KODAMASINGH¹, Muhammad TARIQ²,
Jamshed NASIR³ and Soubhagya Kumar SAHOO¹

¹Siksha O Anusandhan University, Bhubaneswar, Odisha, INDIA

²Department of Basic Sciences and Related Studies, Mehran University of
Engineering and Technology, Jamshoro, PAKISTAN

³Virtual University Islamabad, Lahore Campus, PAKISTAN

ABSTRACT. In this paper, we define and explore the new family of exponentially convex functions which are called exponentially s -convex functions. We attain the amazing examples and algebraic properties of this newly introduced function. In addition, we find a novel version of Hermite-Hadamard type inequality in the support of this newly introduced concept via the frame of classical and fractional calculus (non-conformable and Riemann-Liouville integrals operator). Furthermore, we investigate refinement of Hermite-Hadamard type inequality by using exponentially s -convex functions via fractional integral operator. Finally, we elaborate some Ostrowski type inequalities in the frame of fractional calculus. These new results yield us some generalizations of the prior results.

1. INTRODUCTION

Convex functions are significant in the hypothesis of numerical inequalities, some notable outcomes are immediate ramifications of these functions. The ideas of different sorts of new convex functions are developed from the basic definition of a convex function. The generalizations, extensions and refinements of these functions are proved to be very beneficial in mathematical analysis, financial mathematics, mathematical statistics, optimization theory, etc. For the attention of readers, see the reference [1–4].

2020 *Mathematics Subject Classification.* 26A51, 26A33, 26D07, 26D10, 26D15.

Keywords. Convex functions, s -convex functions, Hermite-Hadamard inequality, Ostrowski type inequality, exponentially s -convex function.

✉ bibhakarkodamasingh@soa.ac.in; 0000-0002-2751-7793

✉ captaintariq2187@gmail.com—Corresponding author; 0000-0001-8372-2532

✉ jnasir143@gmail.com; 0000-0002-7141-4089

✉ soubhagyalulu@gmail.com; 0000-0003-4524-1951.

In literature, the celebrated Hermite-Hadamard double Inequality [5] for convex function on an interval of the real line, discovered by C. Hermite and J. Hadamard individually, has been the hot topic for extensive research, which is stated as,

Let a function $\varphi : \mathbb{A} \rightarrow \mathbb{R}$ is a convex function on \mathbb{A} in \mathbb{R} and $\delta_1, \delta_2 \in \mathbb{A}$ with $\delta_1 < \delta_2$, then

$$\varphi\left(\frac{\delta_1 + \delta_2}{2}\right) \leq \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \varphi(x) dx \leq \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2}. \quad (1)$$

Let φ is a concave function, then this inequality 1 is reversed. The inequality 1 provides upper and lower bounds for the integral means of the convex function φ . The inequality 1 has different kinds of forms with correspondence to different kinds of convexities such as s -convex function, h -convex function, p -convex function, \log -convex function, exponential convex function, exponential type convex function, MT -convex function, tgs -convex function, n -polynomial convex function, preinvex functions etc.

Recently, few researchers have been studying on the properties and applications of exponential type convexity, for more information, we refer interested readers to go through [6–9].

In the literature of inequalities the Hadamard inequality and Ostrowski type inequality appear in different forms for various convex functions. In [10] and [11] for the first time, Hermite-Hadamard inequality and Ostrowski inequality was studied for Riemann-Liouville fractional integrals respectively and after it, researchers started to get many versions of these for different kinds of fractional integral operators and functions.

In the literature, Ostrowski Inequality [12] is defined as follows:

Let $\varphi : I \subset [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I° , the interior of the interval I , such that $\varphi' \in \mathcal{L}[\delta_1, \delta_2]$, where $\delta_1, \delta_2 \in I$ with $\delta_1 < \delta_2$. If $|\varphi'(z)| \leq \mathbb{M}$, for all $x \in [\delta_1, \delta_2]$, then the following inequality holds:

$$\left| \varphi(z) - \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \varphi(x) dx \right| \leq \frac{\mathbb{M}}{(\delta_2 - \delta_1)} \left[\frac{(z - \delta_1)^2 + (\delta_2 - z)^2}{2} \right], \quad (2)$$

which gives an upper bound for approximations of the integral average by $\varphi(z)$ at point $z \in [\delta_1, \delta_2]$

For some recent generalizations about this inequality please see [13], [14] and the references therein. In [15], the authors have established some Ostrowski type inequalities for s -convex function in the second sense. In the recent past many generalizations for Ostrowski type inequality have been performed via different directions like on coordinates, on quantum calculus, on different fractional integral operators like Riemann -Liouville, Katugampola, Caputo, Caputo Fabrizio, ψ - generalized fractional operator, etc.

2. PRELIMINARIES

In this section, we recall some known concepts.

Definition 1. [16] Let $\varphi : \mathbb{A} \rightarrow \mathbb{R}$ be a real valued function. A function φ is said to be convex, if

$$\varphi(\lambda\delta_1 + (1-\lambda)\delta_2) \leq \lambda\varphi(\delta_1) + (1-\lambda)\varphi(\delta_2), \quad (3)$$

holds for all $\delta_1, \delta_2 \in \mathbb{A}$ and $\lambda \in [0, 1]$.

Definition 2. [17] Let $s \in (0, 1]$, then $\varphi : [0, +\infty) \rightarrow \mathbb{R}$ is known as s -convex in the 2nd sense, if

$$\varphi(\lambda\delta_1 + (1-\lambda)\delta_2) \leq \lambda^s\varphi(\delta_1) + (1-\lambda)^s\varphi(\delta_2), \quad (4)$$

holds $\forall \delta_1, \delta_2 \in [0, +\infty)$ and $\lambda \in [0, 1]$.

Dragomir et al. investigated and explored a novel version of Hadamard's inequality in the mode of s -convex functions in the 2nd sense in the published article [18]. In the last few decades or so, fractional calculus can be seen gaining a lot of attention as the most researched subject of mathematics. Its importance is prominent from the fact that many real-life problems are well interpreted and modeled using the theory of fractional calculus. It is also seen that various branches of engineering and applied science have been using the tools and techniques of fractional calculus. It is mainly due to the two mathematicians, L'Hospital and Leibnitz that fractional calculus is so popular nowadays. After this many mathematicians developed different new types of fractional operators and worked upon them to generalize inequalities like Hermite-Hadamard, Ostrowski, Opial, Jensen, Hermite-Hadamard-mercer, Oslen type, etc. The authors examined and celebrated conformable and non-conformable derivative in the published articles [19] and [20]. Both fractional integral operators have a lot of meaningful and useful applications, see the references [21–29].

Definition 3. Let $\varphi : \mathbb{A} \subseteq [0, \infty) \rightarrow \mathbb{R}$ be a real valued function, then the non-conformable derivative of φ is defined by

$$N_3^\alpha \varphi(x) = \lim_{\epsilon \rightarrow 0} \frac{\varphi(\lambda + \epsilon\lambda^\alpha) - \varphi(\lambda)}{\epsilon},$$

where $\alpha \in (0, 1)$ and $\lambda \in \mathbb{A}$.

If $\exists N_3^\alpha \varphi(\lambda)$ and is finite, then φ is a α -differentiable at λ . If φ at λ is a differentiable, then

$$N_3^\alpha \varphi(\lambda) = \lambda^\alpha \varphi'(\lambda).$$

Definition 4. [30] For each $\varphi \in L[\delta_1, \delta_2]$ and $0 < \delta_1 < \delta_2$, we define

$$N_3 J_u^\alpha \varphi(x) = \int_u^x \lambda^{-\alpha} \varphi(\lambda) d\lambda,$$

for every $x, u \in [\delta_1, \delta_2]$ and $\alpha \in \mathbb{R}$.

Definition 5. [30] For each function $\varphi \in L[\delta_1, \delta_2]$ and $\delta_1 < \delta_2$, we define the fractional integrals

$${}_{N_3}J_{\delta_1^+}^\alpha \varphi(x) = \int_{\delta_1}^x (x - \lambda)^{-\alpha} \varphi(\lambda) d\lambda,$$

$${}_{N_3}J_{\gamma_2^-}^\alpha \varphi(x) = \int_x^{\delta_2} (\lambda - x)^{-\alpha} \varphi(\lambda) d\lambda,$$

for every $x \in [\gamma_1, \gamma_2]$ and $\alpha \in \mathbb{R}$.

Remark 1. In the above definitions, if we put $\alpha = 0$ then we get the classical integrals which is represented by ${}_{N_3}J_{\delta_1^+}^\alpha \varphi(x) = {}_{N_3}J_{\delta_2^-}^\alpha \varphi(x) = \int_{\delta_1}^{\delta_2} \varphi(\lambda) d\lambda$.

It is remarkable that M.Z. Sarikaya et al. (see in [10]) proved the following interesting inequalities of Hermite-Hadamard type involving Riemann-Liouville fractional integrals.

Theorem 1. [10] Suppose $\varphi : \mathbb{A} = [\delta_1, \delta_2] \rightarrow \mathbb{R}$ is a positive mapping with $\delta_2 > \delta_1$ and $\varphi \in L[\delta_1, \delta_2]$. If φ is a convex function on $[\delta_1, \delta_2]$, then the following inequalities for fractional integrals holds:

$$\varphi\left(\frac{\delta_1 + \delta_2}{2}\right) \leq \frac{\Gamma(\alpha + 1)}{2(\delta_2 - \delta_1)^\alpha} \left\{ J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right\} \leq \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2},$$

with $\alpha > 0$.

Definition 6. [10] Let $\varphi \in L[\delta_1, \delta_2]$. Then Riemann-Liouville fractional integrals of order $\alpha > 0$ with $\delta_1 \geq 0$ are defined as follows:

$$J_{\delta_1^+}^\alpha \varphi(z) = \frac{1}{\Gamma(\alpha)} \int_{\delta_1}^z (z - \lambda)^{\alpha-1} \varphi(\lambda) d\lambda, \quad z > \delta_1$$

and

$$J_{\delta_2^-}^\alpha \varphi(z) = \frac{1}{\Gamma(\alpha)} \int_z^{\delta_2} (\lambda - z)^{\alpha-1} \varphi(\lambda) d\lambda, \quad z < \delta_2. \quad (5)$$

where $\Gamma(r)$ is the Gamma function defined by

$$\Gamma(r) = \int_0^\infty e^{-y} y^{r-1} dy.$$

Since $a(a > 0)$ will stand for the parameter of the incomplete gamma function (see [31]:8.2.1)

$$\gamma(a, r) = \int_0^r e^{-y} y^{a-1} dy.$$

For further details one may, see [32, 33, 35].

We compose the paper in the following manner, In section 3, we will give the idea of exponentially s -convex functions, examples, and its properties. In section 4, we will give the generalizations of (H-H)-type inequality in the support of the newly introduced idea. In section 5, we will investigate the new version of Hermite-Hadamard type inequality and its refinements for exponentially s -convex function via a fractional integral operator. In section 6, we will also obtain some Ostrowski type inequalities for the exponentially s -convex function φ for fractional integral inequalities. In section 7, a brief conclusion will be given as well.

3. EXPONENTIALLY s -CONVEX FUNCTION AND ITS PROPERTIES

The main aim of this section is to define the new family of convex functions, which are called exponentially s -convex functions. In the manner of this newly introduced concept, we obtain some examples and algebraic properties.

Definition 7. Let $s \in [\ln 2.4, 1]$. Then $\varphi : \mathbb{A} \subset \mathbb{R} \rightarrow \mathbb{R}$ is known to be exponentially s -convex function, if

$$\varphi(\lambda\delta_1 + (1-\lambda)\delta_2) \leq (e^{s\lambda} - 1)\varphi(\delta_1) + (e^{s(1-\lambda)} - 1)\varphi(\delta_2), \quad (6)$$

holds $\forall \delta_1, \delta_2 \in \mathbb{R}$ and $\lambda \in [0, 1]$.

Remark 2. In above Definition 7, if $s = 1$, then we get exponential type convexity given by İşcan in [6].

Remark 3. The range of the exponentially s -convex functions for some fixed $s \in [\ln 2.4, 1]$ is $[0, +\infty)$.

Lemma 1. The following inequalities $(e^{s\lambda} - 1) \geq \lambda^s$ and $(e^{s(1-\lambda)} - 1) \geq (1-\lambda)^s$ are holds, if for all $\lambda \in [0, 1]$ and for some fixed $s \in [\ln 2.4, 1]$

Proof. The proof is evident. \square

Proposition 1. Every nonnegative s -convex function is exponentially s -convex function for $s \in [\ln 2.4, 1]$.

Proof. By using Lemma 1, for $s \in [\ln 2.4, 1]$, we have

$$\begin{aligned} \varphi(\lambda\delta_1 + (1-\lambda)\delta_2) &\leq \lambda^s\varphi(\delta_1) + (1-\lambda)^s\varphi(\delta_2) \\ &\leq (e^{s\lambda} - 1)\varphi(\delta_1) + (e^{s(1-\lambda)} - 1)\varphi(\delta_2). \end{aligned}$$

\square

Proposition 2. Every exponentially s -convex function for $s \in [\ln 2.4, 1]$ is an h -convex function with $h(\lambda) = (e^\lambda - 1)$

Proof.

$$\begin{aligned} \varphi(\lambda\delta_1 + (1-\lambda)\delta_2) &\leq (e^\lambda - 1)\varphi(\delta_1) + (e^{1-\lambda} - 1)\varphi(\delta_2) \\ &\leq h(\lambda)\varphi(\delta_1) + h(1-\lambda)\varphi(\delta_2). \end{aligned}$$

\square

Example 1. Dragomir have investigated that in the published article [18], the non-negative function $\varphi(x) = x^{ls}$, $x > 0$ is s -convex function for the all mention conditions $s \in (0, 1)$, where $1 \leq l \leq \frac{1}{s}$, . Then according to Proposition 2, it is also exponentially s -convex function for some fixed $s \in [\ln 2.4, 1)$.

Example 2. $\varphi(x) = \frac{q}{m+q}x^{\frac{m}{q}+1}$ for $m > 1, q \geq 1$ is a non-negative s -convex function. Then according to Proposition 2, it is also exponentially s -convex function for some fixed $s \in [\ln 2.4, 1)$.

Theorem 2. Let $\varphi : [0, \delta] \rightarrow \mathbb{A}$ be s -convex function for $s \in [\ln 2.4, 1]$ and $\phi : \mathbb{A} \rightarrow \mathbb{R}$ is non-decreasing and exponentially convex function. Then the function $\phi \circ \varphi : [0, \delta] \rightarrow \mathbb{R}$ is exponentially s -convex function.

Proof. For all $\delta_1, \delta_2 \in [0, \delta]$ and $\lambda \in [0, 1]$, and for $s \in [\ln 2.4, 1]$, we have

$$\begin{aligned} (\phi \circ \varphi)(\lambda\delta_1 + (1-\lambda)\delta_2) &= \phi(\varphi(\lambda\delta_1 + (1-\lambda)\delta_2)) \leq \phi(\lambda^s\varphi(\delta_1) + (1-\lambda)^s\varphi(\delta_2)) \\ &\leq (e^{s\lambda} - 1)(\phi \circ \varphi)(\delta_1) + (e^{(1-\lambda)s} - 1)(\phi \circ \varphi)(\delta_2). \end{aligned}$$

□

Remark 4. If we choose $s = 1$ in above Theorem (2), then we get Theorem (2.2) in [6].

4. NEW GENERALIZATIONS OF (H-H) TYPE INEQUALITY USING EXPONENTIALLY s -CONVEX FUNCTIONS

The aim of this section is to find the new generalization of Hermite–Hadamard type inequality for the exponentially s -convex function for φ in the frame of simple calculus and also we attain the novel version of Hermite–Hadamard type inequality in the manner of newly introduced idea in the frame of fractional calculus by the non-conformable integral operator.

Theorem 3. Suppose $s \in [\ln 2.4, 1]$, $\alpha \in (0, 1]$, $\delta_2 > \delta_1$ and $\varphi : \mathbb{A} = [\delta_1, \delta_2] \rightarrow \mathbb{R}$ is exponentially s -convex function such that $\varphi \in L[\delta_1, \delta_2]$. Then one has

$$\begin{aligned} \frac{1}{2(e^{\frac{s}{2}} - 1)}\varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \varphi(u) du \\ &\leq \left(\frac{e^s - s - 1}{s}\right) [\varphi(\delta_1) + \varphi(\delta_2)]. \end{aligned} \quad (7)$$

Proof. Let $z_1, z_2 \in \mathbb{A}$. Then it follows from the exponentially s -convex function for φ on \mathbb{A} that

$$\varphi\left(\frac{z_1 + z_2}{2}\right) \leq (e^{\frac{s}{2}} - 1) [\varphi(z_1) + \varphi(z_2)] \quad (8)$$

Suppose

$$z_1 = \lambda\delta_2 + (1-\lambda)\delta_1 \quad \text{and} \quad z_2 = \lambda\delta_1 + (1-\lambda)\delta_2.$$

Then (8) leads to

$$\varphi\left(\frac{\delta_1 + \delta_2}{2}\right) \leq (e^{\frac{s}{2}} - 1) [\varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) + \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2)]. \tag{9}$$

Now integrating on both sides in the last inequality with respect to λ from 0 to 1, we obtain

$$\begin{aligned} \varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq (e^{\frac{s}{2}} - 1) \left[\int_0^1 \varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) d\lambda + \int_0^1 \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) d\lambda \right] \\ \frac{1}{2(e^{\frac{s}{2}} - 1)} \varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \varphi(u) du, \end{aligned}$$

which gives the proof of first part of inequality of (7). Next, we show the second part of inequality of (7). Let $\lambda \in [0, 1]$. Then from the fact that φ is exponentially s -convex function, we obtain

$$\varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) \leq (e^{s\lambda} - 1) \varphi(\delta_2) + (e^{s(1-\lambda)} - 1) \varphi(\delta_1) \tag{10}$$

and

$$\varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) \leq (e^{s\lambda} - 1) \varphi(\delta_1) + (e^{s(1-\lambda)} - 1) \varphi(\delta_2). \tag{11}$$

By adding the above inequalities, we obtain

$$\begin{aligned} \varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) + \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) &\tag{12} \\ \leq [\varphi(\delta_1) + \varphi(\delta_2)] \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\}. \end{aligned}$$

Now integrating on both sides by above equation with respect to λ from 0 to 1, then making the change of variable, we obtain

$$\begin{aligned} &2 \frac{1}{\delta_2 - \delta_1} \int_{\delta_1}^{\delta_2} \varphi(u) du \\ &\leq [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda, \end{aligned}$$

which leads to the conclusion that

$$\leq 2 \left(\frac{e^s - s - 1}{s} \right) [\varphi(\delta_1) + \varphi(\delta_2)].$$

The proof is completed. □

Remark 5. If we choose $s = 1$, then Theorem 3 becomes to [Theorem 3.1, [6]].

Theorem 4. Let $\varphi : \mathbb{A} = [\delta_1, \delta_2] \rightarrow \mathbb{R}$ be a positive function with $0 \leq \delta_1 \leq \delta_2$ and φ be a integrable function on closed interval set δ_1 and δ_2 . If φ is exponentially

s -convex function, then the following inequalities for fractional integral namely non-conformable integral operator with $\alpha < 0$ and $s \in [\ln 2.4, 1]$ holds:

$$\begin{aligned} \frac{1}{(e^{\frac{s}{2}} - 1)} \varphi \left(\frac{\delta_1 + \delta_2}{2} \right) &\leq \frac{1 - \alpha}{(\delta_2 - \delta_1)^{1-\alpha}} \left[N_3 J_{a^+}^\alpha \varphi(x) + N_3 J_{b^-}^\alpha \varphi(x) \right] \\ &\leq (1 - \alpha) [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{-\alpha} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda. \end{aligned} \quad (13)$$

Proof. Let $\sigma_1, \sigma_2 \in \mathbb{A}$. Then it follows from the exponentially s -convex function for φ on \mathbb{A} that

$$\varphi \left(\frac{\sigma_1 + \sigma_2}{2} \right) \leq (e^{\frac{s}{2}} - 1) [\varphi(\sigma_1) + \varphi(\sigma_2)]. \quad (14)$$

Suppose

$$\sigma_1 = \lambda\delta_2 + (1 - \lambda)\delta_1 \quad \text{and} \quad \sigma_2 = \lambda\delta_1 + (1 - \lambda)\delta_2.$$

Then (14) leads to

$$\varphi \left(\frac{\delta_1 + \delta_2}{2} \right) \leq (e^{\frac{s}{2}} - 1) [\varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) + \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2)]. \quad (15)$$

Now integrating on both sides in the last inequality with respect to λ from 0 to 1 and multiply both sides by $\lambda^{-\alpha}$, we obtain

$$\begin{aligned} \frac{1}{1 - \alpha} \varphi \left(\frac{\delta_1 + \delta_2}{2} \right) &\leq (e^{\frac{s}{2}} - 1) \left[\int_0^1 \lambda^{-\alpha} \varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) d\lambda \right. \\ &\quad \left. + \int_0^1 \lambda^{-\alpha} \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) d\lambda \right], \\ \frac{1}{(e^{\frac{s}{2}} - 1)} \varphi \left(\frac{\delta_1 + \delta_2}{2} \right) &\leq \frac{1 - \alpha}{(\delta_2 - \delta_1)^{1-\alpha}} \left[N_3 J_{a^+}^\alpha \varphi(x) + N_3 J_{b^-}^\alpha \varphi(x) \right], \end{aligned}$$

which gives the proof of first part of inequality of (13). Next, we show the second part of inequality of (13). Let $\lambda \in [0, 1]$. Then from the fact that φ is exponentially s -convex function, we obtain

$$\varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) \leq (e^{s\lambda} - 1) \varphi(\delta_2) + (e^{s(1-\lambda)} - 1) \varphi(\delta_1) \quad (16)$$

and

$$\varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) \leq (e^{s\lambda} - 1) \varphi(\delta_1) + (e^{s(1-\lambda)} - 1) \varphi(\delta_2). \quad (17)$$

By adding the above inequalities, we obtain

$$\begin{aligned} &\varphi(\lambda\delta_2 + (1 - \lambda)\delta_1) + \varphi(\lambda\delta_1 + (1 - \lambda)\delta_2) \\ &\leq [\varphi(\delta_1) + \varphi(\delta_2)] \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\}. \end{aligned} \quad (18)$$

Now integrating on both sides by above equation with respect to λ from 0 to 1 and multiply $\lambda^{-\alpha}$ both sides, then making the change of variable, we obtain

$$\begin{aligned} & \frac{1}{(\delta_2 - \delta_1)^{1-\alpha}} \left[{}_{N_3}J_{a^+}^\alpha \varphi(x) + {}_{N_3}J_{b^-}^\alpha \varphi(x) \right] \\ & \leq [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{-\alpha} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda, \end{aligned}$$

which leads to the conclusion that

$$\begin{aligned} & \frac{1 - \alpha}{(\delta_2 - \delta_1)^{1-\alpha}} \left[{}_{N_3}J_{a^+}^\alpha \varphi(x) + {}_{N_3}J_{b^-}^\alpha \varphi(x) \right] \\ & \leq (1 - \alpha)[\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{-\alpha} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda. \end{aligned}$$

The proof is completed. □

Remark 6. (i) If we choose $s = 1$ and $\alpha = 0$ then Theorem 3 becomes to [Theorem 3.1, [6]].

(ii) If we choose $\alpha = 0$ then Theorem 4, then we attain the Theorem 3.

5. HERMITE–HADAMARD TYPE INEQUALITY AND ITS REFINEMENTS FOR EXPONENTIALLY s -CONVEX FUNCTION VIA FRACTIONAL INTEGRAL OPERATOR

The main key of this section is to obtain the new sort of Hermite–Hadamard inequality in the manner of new introduced concept in the frame of fractional calculus namely Riemann–Liouville integral operator. Also we attain the refinement of this inequality.

Theorem 5. Let $\varphi : \mathbb{A} = [\delta_1, \delta_2] \rightarrow \mathbb{R}$ be a positive function with $0 \leq \delta_1 \leq \delta_2$ and φ be a integrable function on closed interval set δ_1 and δ_2 . If φ is exponentially s -convex function, then the following inequalities for fractional integral namely Riemann–Liouville with $\alpha > 0$ and $s \in [\ln 2.4, 1]$ holds:

$$\begin{aligned} & \frac{1}{(e^{\frac{s}{2}} - 1)} \varphi \left(\frac{\delta_1 + \delta_2}{2} \right) \leq \frac{\Gamma(\alpha + 1)}{(\delta_2 - \delta_1)} \left[J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \tag{19} \\ & \leq \alpha [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{\alpha-1} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda. \end{aligned}$$

Proof. Let $\sigma_1, \sigma_2 \in \mathbb{A}$. Then it follows from the exponentially s -convex function for φ on \mathbb{A} that

$$\varphi \left(\frac{\sigma_1 + \sigma_2}{2} \right) \leq (e^{\frac{s}{2}} - 1) [\varphi(\sigma_1) + \varphi(\sigma_2)] \tag{20}$$

Suppose $\sigma_1 = \lambda\delta_2 + (1 - \lambda)\delta_1$ and $\sigma_2 = \lambda\delta_1 + (1 - \lambda)\delta_2$.

Then (20) leads to

$$\varphi\left(\frac{\delta_1 + \delta_2}{2}\right) \leq (e^{\frac{s}{2}} - 1) [\varphi(\lambda\delta_2 + (1-\lambda)\delta_1) + \varphi(\lambda\delta_1 + (1-\lambda)\delta_2)]. \quad (21)$$

Now integrating on both sides in the last inequality with respect to λ from 0 to 1 and multiply both sides by $\lambda^{\alpha-1}$, we obtain

$$\begin{aligned} \frac{1}{\alpha} \varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq (e^{\frac{s}{2}} - 1) \left[\int_0^1 \lambda^{\alpha-1} \varphi(\lambda\delta_2 + (1-\lambda)\delta_1) d\lambda \right. \\ &\quad \left. + \int_0^1 \lambda^{\alpha-1} \varphi(\lambda\delta_1 + (1-\lambda)\delta_2) d\lambda \right], \\ \frac{1}{\alpha(e^{\frac{s}{2}} - 1)} \varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq \frac{\Gamma(\alpha)}{(\delta_2 - \delta_1)} \left[J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right], \\ \frac{1}{(e^{\frac{s}{2}} - 1)} \varphi\left(\frac{\delta_1 + \delta_2}{2}\right) &\leq \frac{\Gamma(\alpha + 1)}{(\delta_2 - \delta_1)} \left[J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right], \end{aligned}$$

which gives the proof of first part of inequality of (19).

Next, we show the second part of inequality of (19). Let $\lambda \in [0, 1]$. Then from the fact that φ is exponentially s -convex function, we obtain

$$\varphi(\lambda\delta_2 + (1-\lambda)\delta_1) \leq (e^{s\lambda} - 1) \varphi(\delta_2) + (e^{s(1-\lambda)} - 1) \varphi(\delta_1) \quad (22)$$

and

$$\varphi(\lambda\delta_1 + (1-\lambda)\delta_2) \leq (e^{s\lambda} - 1) \varphi(\delta_1) + (e^{s(1-\lambda)} - 1) \varphi(\delta_2). \quad (23)$$

By adding the above inequalities, we obtain

$$\begin{aligned} &\varphi(\lambda\delta_2 + (1-\lambda)\delta_1) + \varphi(\lambda\delta_1 + (1-\lambda)\delta_2) \\ &\leq [\varphi(\delta_1) + \varphi(\delta_2)] \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\}. \end{aligned} \quad (24)$$

Now integrating on both sides by above equation with respect to λ from 0 to 1 and multiply $\lambda^{\alpha-1}$ both sides, then making the change of variable, we obtain

$$\begin{aligned} &\frac{\Gamma(\alpha)}{(\delta_2 - \delta_1)} \left[J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \\ &\leq [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{\alpha-1} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda, \end{aligned}$$

which leads to the conclusion that

$$\begin{aligned} &\frac{\Gamma(\alpha + 1)}{(\delta_2 - \delta_1)} \left[J_{\delta_1^+}^\alpha \varphi(\delta_2) + J_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \\ &\leq \alpha [\varphi(\delta_1) + \varphi(\delta_2)] \int_0^1 \lambda^{\alpha-1} \left\{ (e^{s\lambda} - 1) + (e^{s(1-\lambda)} - 1) \right\} d\lambda. \end{aligned}$$

The proof is completed. □

Remark 7. (i) If we choose $s = 1$ and $\alpha = 1$ then Theorem 3 becomes to [Theorem 3.1, [6]].

(ii) If we choose $\alpha = 1$ then Theorem 5, then we attain the Theorem 3.

Next we find the refinement of Hermite–Hadamard type inequality using exponentially s -convex function via fractional integral operator. In order to obtain the following result, we need the following lemma.

Lemma 2. [34] Let $\varphi : \mathbb{A} \rightarrow \mathbb{R}$ be a differentiable mapping on \mathbb{A}° , where $\delta_1, \delta_2 \in \mathbb{A}^\circ$ with $0 \leq \delta_1 \leq \delta_2$. If $\varphi' \in \mathcal{L}[\delta_1, \delta_2]$, then the following equality for fractional integral holds

$$\begin{aligned} & \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2} - \frac{\Gamma(\alpha + 1)}{2(\delta_2 - \delta_1)^\alpha} \left[I_{\delta_1^+}^\alpha \varphi(\delta_2) + I_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \\ &= \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^1 [(1 - \lambda)^\alpha - \lambda^\alpha] \varphi'(\lambda\delta_1 + (1 - \lambda)\delta_2) d\lambda \right\}. \end{aligned}$$

Theorem 6. Let $\varphi : \mathbb{A} = [\delta_1, \delta_2] \subset [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on (δ_1, δ_2) with $\delta_1 < \delta_2$ such that $\varphi' \in L[\delta_1, \delta_2]$. If $|\varphi'|^q$ is an exponentially s -convex function on $[\delta_1, \delta_2]$ for some fixed $s \in [n2.4, 1]$ and $q \geq 1$. Then the following fractional inequality holds true.

$$\begin{aligned} & \left| \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2} - \frac{\Gamma(\alpha + 1)}{2(\delta_2 - \delta_1)^\alpha} \left[I_{\delta_1^+}^\alpha \varphi(\delta_2) + I_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \right| \\ & \leq \frac{(\delta_2 - \delta_1)}{2} \left[\frac{2}{\alpha + 1} \left(1 - \frac{1}{2^\alpha} \right) \right]^{\frac{q-1}{q}} \\ & \times \left\{ |\varphi'(\delta_1)| q^{\frac{2^{(-2-\alpha)}[4+2\alpha-3e^s-\alpha e^s-2^{(2+\alpha)}(2+\alpha-e^s)]}{(1+\alpha)(2+\alpha)}} - |\varphi'(\delta_1)| q^{\frac{2^{(-2-\alpha)}[-2(2+\alpha)+(1+\alpha)e^s]}{(1+\alpha)(2+\alpha)}} \right. \\ & + |\varphi'(\delta_2)| q^{\frac{2^{(-2-\alpha)}[4+2\alpha-e^s-\alpha e^s+2^{(2+\alpha)}(-2-\alpha+(1+\alpha)e^s)]}{(1+\alpha)(2+\alpha)}} - |\varphi'(\delta_2)| q^{\frac{2^{(-2-\alpha)}[-2(2+\alpha)+(3+\alpha)e^s]}{(1+\alpha)(2+\alpha)}} \\ & + |\varphi'(\delta_1)| q^{\frac{1}{4} \left(\frac{2(-2+2^{-\alpha})}{1+\alpha} + \frac{(4-2^{-\alpha})e^\alpha}{2+\alpha} \right)} - |\varphi'(\delta_1)| q^{\frac{2^{(-2-\alpha)}[-2(2+\alpha)+(3+\alpha)e^s]}{(1+\alpha)(2+\alpha)}} \\ & \left. + |\varphi'(\delta_2)| q^{\frac{2^{(-2-\alpha)}[4+2\alpha-3e^s-\alpha e^s-2^{(2+\alpha)}(2+\alpha-e^s)]}{(1+\alpha)(2+\alpha)}} - |\varphi'(\delta_2)| q^{\frac{2^{(-2-\alpha)}[-2(2+\alpha)+(1+\alpha)e^s]}{(1+\alpha)(2+\alpha)}} \right\}^{\frac{1}{q}}. \end{aligned}$$

Proof. Suppose that $q = 1$. From lemma (2) and using properties of modulus, we have

$$\begin{aligned} & \left| \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2} - \frac{\Gamma(\alpha + 1)}{2(\delta_2 - \delta_1)^\alpha} \left[I_{\delta_1^+}^\alpha \varphi(\delta_2) + I_{\delta_2^-}^\alpha \varphi(\delta_1) \right] \right| \\ &= \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^1 |(1 - \lambda)^\alpha - \lambda^\alpha| |\varphi'(\lambda\delta_1 + (1 - \lambda)\delta_2)| d\lambda \right\} \\ & \leq \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^1 |(1 - \lambda)^\alpha - \lambda^\alpha| \left[(e^{s\lambda} - 1)|\varphi'(\delta_1)| + (e^{s(1-\lambda)} - 1)|\varphi'(\delta_2)| \right] d\lambda \right\} \\ & \leq \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^{1/2} [(1 - \lambda)^\alpha - \lambda^\alpha] \left[(e^{s\lambda} - 1)|\varphi'(\delta_1)| + (e^{s(1-\lambda)} - 1)|\varphi'(\delta_2)| \right] d\lambda \right. \end{aligned}$$

$$\begin{aligned}
& + \int_{1/2}^1 [\lambda^\alpha - (1-\lambda)^\alpha] \left[(e^{s\lambda} - 1)|\varphi'(\delta_1)| + (e^{s(1-\lambda)} - 1)|\varphi'(\delta_2)| \right] d\lambda \Big\} \\
= & \frac{(\delta_2 - \delta_1)}{2} \left\{ |\varphi'(\delta_1)| \int_0^{1/2} (1-\lambda)^\alpha (e^{s\lambda} - 1) d\lambda - |\varphi'(\delta_1)| \int_0^{1/2} \lambda^\alpha (e^{s\lambda} - 1) d\lambda \right. \\
& + |\varphi'(\delta_2)| \int_0^{1/2} (1-\lambda)^\alpha (e^{s(1-\lambda)} - 1) d\lambda - |\varphi'(\delta_2)| \int_0^{1/2} \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda \\
& + |\varphi'(\delta_1)| \int_{1/2}^1 \lambda^\alpha (e^{s\lambda} - 1) d\lambda - |\varphi'(\delta_1)| \int_{1/2}^1 (1-\lambda)^\alpha (e^{s\lambda} - 1) d\lambda \\
& \left. + |\varphi'(\delta_2)| \int_{1/2}^1 \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda - |\varphi'(\delta_2)| \int_{1/2}^1 (1-\lambda)^\alpha (e^{s(1-\lambda)} - 1) d\lambda \right\} \\
= & \frac{(\delta_2 - \delta_1)}{2} \left\{ |\varphi'(\delta_1)| \frac{2^{(-2-\alpha)} [4 + 2\alpha - 3e^s - \alpha e^s - 2^{(2+\alpha)}(2 + \alpha - e^s)]}{(1 + \alpha)(2 + \alpha)} \right. \\
& - |\varphi'(\delta_1)| \frac{2^{(-2-\alpha)} [-2(2 + \alpha) + (1 + \alpha)e^s]}{(1 + \alpha)(2 + \alpha)} \\
& + |\varphi'(\delta_2)| \frac{2^{(-2-\alpha)} [4 + 2\alpha - e^s - \alpha e^s + 2^{(2+\alpha)}(-2 - \alpha + (1 + \alpha)e^s)]}{(1 + \alpha)(2 + \alpha)} \\
& - |\varphi'(\delta_2)| \frac{2^{(-2-\alpha)} [-2(2 + \alpha) + (3 + \alpha)e^s]}{(1 + \alpha)(2 + \alpha)} \\
& + |\varphi'(\delta_1)| \frac{1}{4} \left(\frac{2(-2 + 2^{-\alpha})}{1 + \alpha} + \frac{(4 - 2^{-\alpha})e^\alpha}{2 + \alpha} \right) \\
& - |\varphi'(\delta_1)| \frac{2^{(-2-\alpha)} [-2(2 + \alpha) + (3 + \alpha)e^s]}{(1 + \alpha)(2 + \alpha)} \\
& + |\varphi'(\delta_2)| \frac{2^{(-2-\alpha)} [4 + 2\alpha - 3e^s - \alpha e^s - 2^{(2+\alpha)}(2 + \alpha - e^s)]}{(1 + \alpha)(2 + \alpha)} \\
& \left. - |\varphi'(\delta_2)| \frac{2^{(-2-\alpha)} [-2(2 + \alpha) + (1 + \alpha)e^s]}{(1 + \alpha)(2 + \alpha)} \right\},
\end{aligned}$$

where,

$$\begin{aligned}
\int_0^{1/2} (1-\lambda)^\alpha (e^{s(1-\lambda)} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [4 + 2\alpha - e^s - \alpha e^s + 2^{(2+\alpha)}(-2 - \alpha + (1 + \alpha)e^s)]}{(1 + \alpha)(2 + \alpha)} \\
\int_0^{1/2} \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [-2(2 + \alpha) + (3 + \alpha)e^s]}{(1 + \alpha)(2 + \alpha)} \\
\int_0^{1/2} (1-\lambda)^\alpha (e^{s\lambda} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [4 + 2\alpha - 3e^s - \alpha e^s - 2^{(2+\alpha)}(2 + \alpha - e^s)]}{(1 + \alpha)(2 + \alpha)}
\end{aligned}$$

$$\begin{aligned} \int_0^{1/2} \lambda^\alpha (e^{s\lambda} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (1+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \\ \int_{1/2}^1 (1-\lambda)^\alpha (e^{s\lambda} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (3+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \\ \int_{1/2}^1 \lambda^\alpha (e^{s\lambda} - 1) d\lambda &= \frac{1}{4} \left(\frac{2(-2+2^{-\alpha})}{1+\alpha} + \frac{(4-2^{-\alpha})e^\alpha}{2+\alpha} \right) \\ \int_{1/2}^1 (1-\lambda)^\alpha (e^{s(1-\lambda)} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (1+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \\ \int_{1/2}^1 \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda &= \frac{2^{(-2-\alpha)} [4+2\alpha-3e^s-\alpha e^s-2^{(2+\alpha)}(2+\alpha-e^s)]}{(1+\alpha)(2+\alpha)}. \end{aligned}$$

This completes the proof of this case. Suppose now that $q > 1$, since $|\varphi|^q$ is an exponential s-convex function, we have

$$|\varphi'(\lambda\delta_1 + (1-\lambda)\delta_2)|^q \leq (e^{s\lambda} - 1)|\varphi(\delta_1)|^q + (e^{s(1-\lambda)} - 1)|\varphi(\delta_2)|^q$$

Now using Hölders Inequality for $\frac{1}{p} + \frac{1}{q} = 1$

$$\begin{aligned} &\left| \frac{\varphi(\delta_1) + \varphi(\delta_2)}{2} - \frac{\Gamma(\alpha+1)}{2(\delta_2 - \delta_1)^\alpha} [I_{\delta_1^+}^\alpha \varphi(\delta_2) + I_{\delta_2^-}^\alpha \varphi(\delta_1)] \right| \\ &\leq \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^1 |(1-\lambda)^\alpha - \lambda^\alpha| |\varphi'(\lambda\delta_1 + (1-\lambda)\delta_2)| d\lambda \right\} \\ &= \frac{(\delta_2 - \delta_1)}{2} \left\{ \int_0^1 |(1-\lambda)^\alpha - \lambda^\alpha|^{1-1/q} |(1-\lambda)^\alpha - \lambda^\alpha|^{1/q} |\varphi'(\lambda\delta_1 + (1-\lambda)\delta_2)| d\lambda \right\} \\ &\leq \frac{(\delta_2 - \delta_1)}{2} \left\{ \left(\int_0^1 |(1-\lambda)^\alpha - \lambda^\alpha| d\lambda \right)^{\frac{q-1}{q}} \left(\int_0^1 |(1-\lambda)^\alpha - \lambda^\alpha| |\varphi'(\lambda\delta_1 + (1-\lambda)\delta_2)|^q d\lambda \right)^{\frac{1}{q}} \right\} \\ &\leq \frac{(\delta_2 - \delta_1)}{2} \left[\frac{2}{\alpha+1} \left(1 - \frac{1}{2^\alpha} \right) \right]^{\frac{q-1}{q}} \left(\int_0^1 |(1-\lambda)^\alpha - \lambda^\alpha| [(e^{s\lambda} - 1)|\varphi(\delta_1)|^q \right. \\ &\quad \left. + (e^{s(1-\lambda)} - 1)|\varphi(\delta_2)|^q] d\lambda \right)^{\frac{1}{q}} = \frac{(\delta_2 - \delta_1)}{2} \left[\frac{2}{\alpha+1} \left(1 - \frac{1}{2^\alpha} \right) \right]^{\frac{q-1}{q}} \\ &\quad \times \left\{ |\varphi'(\delta_1)|^q \frac{2^{(-2-\alpha)} [4+2\alpha-3e^s-\alpha e^s-2^{(2+\alpha)}(2+\alpha-e^s)]}{(1+\alpha)(2+\alpha)} \right. \\ &\quad \left. - |\varphi'(\delta_1)|^q \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (1+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \right. \\ &\quad \left. + |\varphi'(\delta_2)|^q \frac{2^{(-2-\alpha)} [4+2\alpha-e^s-\alpha e^s+2^{(2+\alpha)}(-2-\alpha+(1+\alpha)e^s)]}{(1+\alpha)(2+\alpha)} \right\} \end{aligned}$$

$$\begin{aligned}
& -|\varphi'(\delta_2)|^q \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (3+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \\
& +|\varphi'(\delta_1)|^q \frac{1}{4} \left(\frac{2(-2+2^{-\alpha})}{1+\alpha} + \frac{(4-2^{-\alpha})e^\alpha}{2+\alpha} \right) \\
& -|\varphi'(\delta_1)|^q \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (3+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \\
& +|\varphi'(\delta_2)|^q \frac{2^{(-2-\alpha)} [4+2\alpha-3e^s-\alpha e^s-2^{(2+\alpha)}(2+\alpha-e^s)]}{(1+\alpha)(2+\alpha)} \\
& -|\varphi'(\delta_2)|^q \frac{2^{(-2-\alpha)} [-2(2+\alpha) + (1+\alpha)e^s]}{(1+\alpha)(2+\alpha)} \Big\}^{\frac{1}{q}},
\end{aligned}$$

which completes the proof of the Theorem. \square

6. OSTROWSKI TYPE INEQUALITIES FOR EXPONENTIALLY s -CONVEXITY VIA FRACTIONAL INTEGRAL

In this section, we established new Ostrowski type inequalities for exponentially s -convexity via Riemann-Liouville fractional integral. A useful and interesting feature of our results is that they provide new estimates on these types of inequalities for fractional integrals. In order to prove our results, we need the following identity. (see in [11, 35]).

Lemma 3. *Suppose a mapping $\varphi : \mathbb{A} \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is differentiable on \mathbb{A}° , where $\delta_1, \delta_2 \in \mathbb{A}$ with $\delta_1 < \delta_2$. If $\varphi' \in L[\delta_1, \delta_2]$, for all $z \in [\delta_1, \delta_2]$ and $\alpha > 0$, then the following equality holds:*

$$\begin{aligned}
& \left(\frac{(z-\delta_1)^\alpha + (\delta_2-z)^\alpha}{\delta_2-\delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha+1)}{\delta_2-\delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \\
& = \frac{(z-\delta_1)^{\alpha+1}}{\delta_2-\delta_1} \int_0^1 \lambda^\alpha \varphi'(\lambda z + (1-\lambda)\delta_1) d\lambda \\
& - \frac{(\delta_2-z)^{\alpha+1}}{\delta_2-\delta_1} \int_0^1 \lambda^\alpha \varphi'(\lambda z + (1-\lambda)\delta_2) d\lambda,
\end{aligned} \tag{25}$$

where Γ is the Euler gamma function.

Theorem 7. *Suppose a mapping $\varphi : \mathbb{A} \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is differentiable on \mathbb{A}° , where $\delta_1, \delta_2 \in \mathbb{A}$ with $\delta_1 < \delta_2$. If $|\varphi'|$ is exponentially s -convex on $[\delta_1, \delta_2]$ for some $s \in [\ln 2.4, 1]$, $\varphi' \in L[\delta_1, \delta_2]$ and $|\varphi'(z)| \leq \mathbb{M}$, for all $z \in [\delta_1, \delta_2]$, $\alpha > 0$, then the following inequality holds:*

$$\begin{aligned}
& \left| \left(\frac{(z-\delta_1)^\alpha + (\delta_2-z)^\alpha}{\delta_2-\delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha+1)}{\delta_2-\delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right| \\
& \leq \frac{\mathbb{M}}{(\delta_2-\delta_1)}
\end{aligned}$$

$$\begin{aligned}
 & \times \left[(z - \delta_1)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \right. \\
 & \left. \left. - \left(\frac{(\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) e^s}{s^{\alpha+1}} + \frac{1}{\alpha + 1} \right) \right\} \right. \\
 & \left. + (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \right. \\
 & \left. \left. - \left(\frac{(\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) e^s}{s^{\alpha+1}} + \frac{1}{\alpha + 1} \right) \right\} \right]. \tag{26}
 \end{aligned}$$

Proof. From Lemma 3 and since $|\varphi'|$ is exponentially s -convexity and $|\varphi'(z)| \leq \mathbb{M}$, we have

$$\begin{aligned}
 & \left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right| \\
 & \leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_1)| d\lambda + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_2)| d\lambda \\
 & \leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha \left\{ (e^{s\lambda} - 1) |\varphi'(z)| + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_1)| \right\} d\lambda \\
 & + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha \left\{ (e^{s\lambda} - 1) |\varphi'(z)| + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_1)| \right\} d\lambda \\
 & \leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \left\{ |\varphi'(z)| \int_0^1 \lambda^\alpha (e^{s\lambda} - 1) d\lambda + |\varphi'(\delta_1)| \int_0^1 \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda \right\} \\
 & + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \left\{ |\varphi'(z)| \int_0^1 \lambda^\alpha (e^{s\lambda} - 1) d\lambda + |\varphi'(\delta_2)| \int_0^1 \lambda^\alpha (e^{s(1-\lambda)} - 1) d\lambda \right\} \\
 & \leq \frac{\mathbb{M}}{(\delta_2 - \delta_1)} \times (z - \delta_1)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \\
 & \left. - \left(\frac{(\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) e^s}{s^{\alpha+1}} + \frac{1}{\alpha + 1} \right) \right\} \\
 & + \frac{\mathbb{M}}{(\delta_2 - \delta_1)} \times (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \\
 & \left. - \left(\frac{(\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) e^s}{s^{\alpha+1}} + \frac{1}{\alpha + 1} \right) \right\}.
 \end{aligned}$$

After simplification, we get(26). The proof is completed. □

Corollary 1. Under the similar consideration in Theorem 7, by choosing $s = 1$, we obtain

$$\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right|$$

$$\begin{aligned} &\leq \frac{\mathbb{M}}{(\delta_2 - \delta_1)} \\ &\times \left[(z - \delta_1)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha+1, -1) - \Gamma(\alpha+1)}{(-1)^\alpha} - \frac{1}{\alpha+1} \right) \right. \right. \\ &\quad \left. \left. - \left((\gamma(\alpha+1, 1) - \Gamma(\alpha+1))e + \frac{1}{\alpha+1} \right) \right\} \right. \\ &\quad \left. + (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha+1, -1) - \Gamma(\alpha+1)}{(-1)^\alpha} - \frac{1}{\alpha+1} \right) \right. \right. \\ &\quad \left. \left. - \left((\gamma(\alpha+1, 1) - \Gamma(\alpha+1))e + \frac{1}{\alpha+1} \right) \right\} \right]. \end{aligned}$$

Theorem 8. Suppose a mapping $\varphi : \mathbb{A} \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is differentiable on \mathbb{A}° , where $\delta_1, \delta_2 \in \mathbb{A}$ with $\delta_1 < \delta_2$. If $|\varphi'|^q$ is exponentially s -convex on $[\delta_1, \delta_2]$ for some $s \in [\ln 2.4, 1]$, $q > 1$, $q^{-1} = 1 - p^{-1}$, $\varphi' \in L[\delta_1, \delta_2]$ and $|\varphi'(z)| \leq \mathbb{M}$, for all $z \in [\delta_1, \delta_2]$, with $\alpha > 0$, then the following inequality holds:

$$\begin{aligned} &\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha+1)}{\delta_2 - \delta_1} \{J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2)\} \right| \\ &\leq \frac{2^{\frac{1}{q}} \mathbb{M}}{(\delta_2 - \delta_1)} \left(\frac{1}{\alpha p + 1} \right)^{\frac{1}{p}} \\ &\times \left[(z - \delta_1)^{\alpha+1} \left\{ \left(\frac{e^s - s - 1}{s} \right) \right\}^{\frac{1}{q}} + (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{e^s - s - 1}{s} \right) \right\}^{\frac{1}{q}} \right]. \quad (27) \end{aligned}$$

Proof. From Lemma 3 and famous Hölder's inequality, we have

$$\begin{aligned} &\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha+1)}{\delta_2 - \delta_1} \{J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2)\} \right| \\ &\leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_1)| d\lambda \\ &\quad + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_2)| d\lambda \\ &\leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \left(\int_0^1 \lambda^{\alpha p} d\lambda \right)^{\frac{1}{p}} \left(\int_0^1 |\varphi'(\lambda z + (1 - \lambda)\delta_1)|^q d\lambda \right)^{\frac{1}{q}} \\ &\quad + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \left(\int_0^1 \lambda^{\alpha p} d\lambda \right)^{\frac{1}{p}} \left(\int_0^1 |\varphi'(\lambda z + (1 - \lambda)\delta_2)|^q d\lambda \right)^{\frac{1}{q}}. \quad (28) \end{aligned}$$

Since $|\varphi'|^q$ is exponentially s -convexity and $|\varphi'(z)| \leq \mathbb{M}$, we obtain

$$\int_0^1 |\varphi'(\lambda z + (1 - \lambda)\delta_1)|^q d\lambda = \int_0^1 \left\{ (e^{s\lambda} - 1) |\varphi'(z)|^q + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_1)|^q \right\} d\lambda$$

$$\begin{aligned} &\leq \mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right) + \mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right) \\ &\leq 2\mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right) \end{aligned} \tag{29}$$

and

$$\begin{aligned} &\int_0^1 |\varphi'(\lambda z + (1 - \lambda)\delta_2)|^q d\lambda = \int_0^1 \left\{ (e^{s\lambda} - 1) |\varphi'(z)|^q + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_2)|^q \right\} d\lambda \\ &\leq \mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right) + \mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right) \\ &\leq 2\mathbb{M}^q \left(\frac{e^s - s - 1}{s} \right). \end{aligned} \tag{30}$$

By connecting (29) and (30) with (28), we get (27). The proof is completed. \square

Corollary 2. *Under the similar consideration in Theorem 8, by choosing $s = 1$, we obtain*

$$\begin{aligned} &\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right| \\ &\leq \frac{2^{\frac{1}{q}} \mathbb{M}}{(\delta_2 - \delta_1)} \left(\frac{1}{\alpha p + 1} \right)^{\frac{1}{p}} \left[(z - \delta_1)^{\alpha+1} \left\{ (e - 2) \right\}^{\frac{1}{q}} + (\delta_2 - z)^{\alpha+1} \left\{ (e - 2) \right\}^{\frac{1}{q}} \right]. \end{aligned}$$

Theorem 9. *Suppose a mapping $\varphi : \mathbb{A} \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is differentiable on \mathbb{A}° , where $\delta_1, \delta_2 \in \mathbb{A}$ with $\delta_1 < \delta_2$. If $|\varphi'|^q$ is exponentially s -convex on $[\delta_1, \delta_2]$ for some $s \in [\ln 2.4, 1]$, $q \geq 1$, $q^{-1} = 1 - p^{-1}$, $\varphi' \in L[\delta_1, \delta_2]$ and $|\varphi'(z)| \leq \mathbb{M}$, for all $z \in [\delta_1, \delta_2]$, with $\alpha > 0$, then the following inequality holds:*

$$\begin{aligned} &\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right| \\ &\leq \frac{\mathbb{M}}{(\delta_2 - \delta_1)} \left(\frac{1}{\alpha + 1} \right)^{1 - \frac{1}{q}} \\ &\times \left[(z - \delta_1)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \right. \\ &\quad \left. \left. - \left((\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) s^{-\alpha-1} e^s - \frac{1}{\alpha + 1} \right) \right\}^{\frac{1}{q}} \right. \\ &\quad \left. + (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \right. \\ &\quad \left. \left. - \left((\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) s^{-\alpha-1} e^s - \frac{1}{\alpha + 1} \right) \right\}^{\frac{1}{q}} \right]. \end{aligned} \tag{31}$$

Proof. From Lemma 3 and power mean inequality, we have

$$\begin{aligned}
& \left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right| \\
& \leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_1)| d\lambda \\
& \quad + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_2)| d\lambda \\
& \leq \frac{(z - \delta_1)^{\alpha+1}}{\delta_2 - \delta_1} \left(\int_0^1 \lambda^\alpha d\lambda \right)^{1 - \frac{1}{q}} \left(\int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_1)|^q d\lambda \right)^{\frac{1}{q}} \\
& \quad + \frac{(\delta_2 - z)^{\alpha+1}}{\delta_2 - \delta_1} \left(\int_0^1 \lambda^\alpha d\lambda \right)^{1 - \frac{1}{q}} \left(\int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_2)|^q d\lambda \right)^{\frac{1}{q}} \quad (32)
\end{aligned}$$

Since $|\varphi'|^q$ is exponentially s -convexity and $|\varphi'(z)| \leq \mathbb{M}$, we obtain

$$\begin{aligned}
& \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_1)|^q d\lambda \\
& = \int_0^1 \lambda^\alpha \left\{ (e^{s\lambda} - 1) |\varphi'(z)|^q + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_1)|^q \right\} d\lambda \\
& \leq \mathbb{M}^q \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \\
& \quad \left. - \left((\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) s^{-\alpha-1} e^s - \frac{1}{\alpha + 1} \right) \right\} \quad (33)
\end{aligned}$$

and

$$\begin{aligned}
& \int_0^1 \lambda^\alpha |\varphi'(\lambda z + (1 - \lambda)\delta_2)|^q d\lambda \\
& = \int_0^1 \lambda^\alpha \left\{ (e^{s\lambda} - 1) |\varphi'(z)|^q + (e^{s(1-\lambda)} - 1) |\varphi'(\delta_2)|^q \right\} d\lambda \\
& \leq \mathbb{M}^q \left\{ \left(\frac{\gamma(\alpha + 1, -s) - \Gamma(\alpha + 1)}{(-s)^\alpha s} - \frac{1}{\alpha + 1} \right) \right. \\
& \quad \left. - \left((\gamma(\alpha + 1, s) - \Gamma(\alpha + 1)) s^{-\alpha-1} e^s - \frac{1}{\alpha + 1} \right) \right\}. \quad (34)
\end{aligned}$$

By connecting (33) and (34) with (32), we get (31). The proof is completed. \square

Corollary 3. Under the similar consideration in Theorem 9, by choosing $s = 1$, we obtain

$$\left| \left(\frac{(z - \delta_1)^\alpha + (\delta_2 - z)^\alpha}{\delta_2 - \delta_1} \right) \varphi(z) - \frac{\Gamma(\alpha + 1)}{\delta_2 - \delta_1} \{ J_{z^-}^\alpha \varphi(\delta_1) + J_{z^+}^\alpha \varphi(\delta_2) \} \right|$$

$$\begin{aligned}
&\leq \frac{M}{(\delta_2 - \delta_1)} \left(\frac{1}{\alpha + 1} \right)^{1 - \frac{1}{q}} \\
&\times \left[(z - \delta_1)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -1) - \Gamma(\alpha + 1)}{(-1)^\alpha} - \frac{1}{\alpha + 1} \right) \right. \right. \\
&- \left. \left. \left((\gamma(\alpha + 1, 1) - \Gamma(\alpha + 1)) e - \frac{1}{\alpha + 1} \right) \right\}^{\frac{1}{q}} \right. \\
&+ (\delta_2 - z)^{\alpha+1} \left\{ \left(\frac{\gamma(\alpha + 1, -1) - \Gamma(\alpha + 1)}{(-1)^\alpha} - \frac{1}{\alpha + 1} \right) \right. \\
&- \left. \left. \left((\gamma(\alpha + 1, 1) - \Gamma(\alpha + 1)) e - \frac{1}{\alpha + 1} \right) \right\}^{\frac{1}{q}} \right].
\end{aligned}$$

7. CONCLUSION

In this article, the authors showed the new class of exponentially s -convex functions, derive several new versions of the Hermite-Hadamard inequality using the class of exponentially s -convex functions in the frame of classical and fractional calculus. We have obtained some refinement of Hermite-Hadamard inequality. Finally, we have attained some Ostrowski type inequalities for exponentially s -convexity via fractional integral. We hope the consequences and techniques of this article will energize and inspire the researchers to explore a more interesting sequel in this area.

Author Contribution Statements The authors contributed equally to this work. All authors of the submitted research paper have directly participated in the planning, execution, or analysis of study.

Declaration of Competing Interests The authors declare that there is no conflict of interest regarding the publication of this article. Besides, the contents of the manuscript have not been submitted, copyrighted or published elsewhere and the visual-graphical materials such as photograph, drawing, picture, and document within the article do not have any copyright issue. Finally, all authors of the paper have read and approved the final version submitted.

REFERENCES

- [1] Xi, B. Y., Qi, F., Some integral inequalities of Hermite-Hadamard type for convex functions with applications to means, *J. Funct. Spaces. Appl.*, Article ID 980438 (2012), 1–14. <https://doi.org/10.1155/2012/980438>
- [2] Özcan, S., İşcan, İ., Some new Hermite Hadamard type integral inequalities for the s -convex functions and theirs applications, *J. Inequal. Appl.*, 201 (2019), 1–14.
- [3] Butt, S. I., Budak, H., Tariq, M., Nadeem, M., Integral inequalities for n -polynomial s -type preinvex functions with applications, *Math. Methods Appl. Sci.*, (2021). <https://doi.org/10.1002/mma.7465>
- [4] Hudzik, H., Maligranda, L., Some remarks on s -convex functions, *Aequationes Math.*, 48 (1994), 100–111.

- [5] Hadamard, J., Étude sur les propriétés des fonctions entières en particulier d'une fonction considérée par Riemann, *J. Math. Pures. Appl.*, 58 (1893), 171–215.
- [6] Kadakal, M., İşcan, İ., Exponential type convexity and some related inequalities, *J. Inequal. Appl.*, 82 (2020), 1–9.
- [7] Butt, S. I., Tariq, M., Aslam, A., Ahmad, H., Nofel, T. A., Hermite–Hadamard type inequalities via generalized harmonic exponential convexity, *J. Funct. Spaces*, (2021), 1–12. <https://doi.org/10.1155/2021/5533491>
- [8] Butt, S. I., Kashuri, A., Tariq, M., Nasir, J., Aslam, A., Geo, W., Hermite–Hadamard–type inequalities via n -polynomial exponential–type convexity and their applications, *Adv. Differ. Equ.*, 508 (2020).
- [9] Butt, S. I., Kashuri, A., Tariq, M., Nasir, J., Aslam, A., Geo, W., n -polynomial exponential–type p -convex function with some related inequalities and their applications, *Heliyon*, (2020). DOI: 10.1016/j.heliyon.2020.e05420
- [10] Sarikaya, M. Z., Set, E., Yaldiz, H., Basak, N., Hermite Hadamard inequalities for fractional integrals and related fractional inequalities, *Mathematical and Computer Modelling*, 57(9-10) (2003), 2403-2407.
- [11] Set, E., New inequalities of Ostrowski type for mappings whose derivatives are s -convex in the second sense via fractional integrals, *Computers and Mathematics with Applications*, 63(7) (2012), 1147-1154.
- [12] Ostrowski, A., Über die Absolutabweichung einer differentiebaren funktion von ihren integralmittelwert, *Comment. Math. Helv.*, 10 (1938), 226–227.
- [13] Mohsen, B. B., Awan, M. U., Javed, M. Z., Noor, M. A., Noor, K. I., Some new Ostrowski-type inequalities involving σ -fractional integrals, *J. Math.*, (2021). <https://doi.org/10.1155/2021/8850923>
- [14] Akhtar, N., Awan, M. U., Javed, M. Z., Rassias, M. T., Mihai, M. V., Noor, M. A., Noor, K. I., Ostrowski type inequalities involving harmonically convex functions and applications, *Symmetry*, 13(2) (2021).
- [15] Alomari, M., Darus, M., Dragomir, S. S., Cerone, P., Ostrowski type inequalities for functions whose derivatives are s -convex in the second sense, *Applied Mathematics Letters*, 23(9) (2010), 1071-1076.
- [16] Niculescu, C. P., Persson, L. E., *Convex Functions and Their Applications*, Springer, New York, 2006.
- [17] Set, E., Özdemir, M. E., Sarikaya, M. Z., New inequalities of Ostrowski's type for s -convex functions in the second sense with applications, arXiv preprint arXiv:1005.0702, (2010).
- [18] Dragomir, S. S., Fitzpatrick, S., The Hadamard inequality for s -convex functions in the second sense, *Demonstratio Math.*, 32(4) (1999), 687-696.
- [19] Khalil, R., Horani, M. A., Yousef, A., Sababheh, M., A new definition of fractional derivative, *J. Comput. Appl. Math.*, 264 (2014), 65–70.
- [20] Nápoles valdés, J. E., Guzman, P. M., Lugo, L. M., Some new results on non-conformable fractional calculus, *Adv. Dyn. Syst. Appl.*, 13 (2018), 167–175.
- [21] Gómez-Aguilar, J. F., Novel analytic solutions of the fractional drude model, *Optik*, 168 (2018), 728–740.
- [22] Gómez-Aguilar, J. F., Analytic and numerical solutions of a nonlinear alcoholism model via variable-order fractional differential equations, *Phys. A Stat. Mech. Appl.*, 494 (2018), 52–75.
- [23] Ghanim, F., Al-Janaby, H. F., Bazighifan, O., Some new extensions on fractional differential and integral properties for Mittag-Leffler confluent hypergeometric function, *Fractal Fract.*, 5 (2021), 143.
- [24] El-Deeb, A. A.-M., Bazighifan, O., Awrejcewicz, J. A., Variety of dynamic Steffensen-type inequalities on a general time scale, *Symmetry*, 13 (2021), 1738.
- [25] Elayaraja, R., Ganesan, V., Bazighifan, O., Cesarano, C., Oscillation and asymptotic properties of differential equations of third-order, *Axioms*, 10 (2021), 192.

- [26] Tariq, M., Sahoo, S. K., Nasir, J., Awan, S. K., Some Ostrowski type integral inequalities using Hypergeometric Functions, *J. Frac. Calc. Nonlinear Sys.*, 2 (2021), 24–41.
- [27] Tariq, M., Nasir, J., Sahoo, S. K., Mallah, A. A., A note on some Ostrowski type inequalities via generalized exponentially convex function, *J. Math. Anal. Model.*, 2 (2021), 1–15. <https://doi.org/10.48185/jmam.v2i2.216>
- [28] Tariq, M., New Hermite–Hadamard type inequalities via p -harmonic exponential type convexity and applications, *U. J. Math. Appl.*, 4 (2021), 59–69.
- [29] Tariq, M., New Hermite–Hadamard type and some related inequalities via s -type p -convex function, *IJSER.*, 11(12) (2020), 498-508.
- [30] Valdes, J. E. N., Rodriguez, J. M., Sigarreta, J. M., New Hermite–Hadamard type inequalities involving non-conformable integral operators, *Symmetry*, 11 (2019), 1–11.
- [31] Olver, F. W. J., Lozier, D. W., Boisvert, R. F., Clark, F. C., The NIST Handbook of Mathematical Functions, Cambridge University Press, New York, 2010.
- [32] Miller, K., Ross, B., An Introduction to the Fractional Calculus and Fractional Differential Equations, John Wiley and Sons, Inc., New York, 1993.
- [33] Podlubni, I., Fractional Differential Equations, Academic Press, San Diego, 1999.
- [34] Set, E., Sarikaya, M. Z., Özdemir, M. E., Yildirim, H., The Hermite–Hadamard inequality for some convex functions via fractional integral and related results, *JAMSI.*, (2011).
- [35] Noor, A. M., Noor, K. I., Awan, M. U., Fractional Ostrowski inequalities for s -Godunova-Levin functions, *I. J. Anal. Appl.*, 5(2) (2014), 167–173.